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I. Cloze (15 points / 1 point each)

Directions: There are 15 blanks in the following passage. For each blank there are four choices
marked A), B), C), and D). Choose the ONE answer that best fits into the passage
and write the corresponding letter on the Answer Sheet.

Clothes, decorations, physique, hair and facial features give a great deal of information about
unlike animals, we do not have a protec-

us. For instance, we wear clothes to keep us warm, 1

tive covering of hair. But for the 2  of communication, we 3 in clothes of different colors,

styles and materials; we use cosmetics and perfume; we 4  beards and sideburns.

Strict _ 5  govern the clothes we wear. We do not wear football boots with a dinner jacket,
__ 6 a boiler suit to work in an insurance office. Fashionable and smart 7  are associated with
good qualities and well-dressed people have been = 8  to get more help and cooperation from

9  strangers. For example, a woman is often given more 10  of help with her broken-down

car when she is dressed 11  than when she is dressed less appealingly.

youth movements with

Rebels consider themselves to be

15  uniforms.

12
physical appearance to show this. In the last two decades in Britain, there 14

from other people in society, and often

1. A) when B) because C) so D) but

2. A) reason B) aim C) purpose D) way

3. A) wear B) put C) dress D) get

4. A) grow B) keep C) remain D) prefer

5. A) rules B) laws C) regulations D) principles
6. A) never B) neither C) and D) or

7. A) clothes B) wearing C) clothing D) overall
8. A) discovered B) known C) identified D) regarded
9. A) all B) full C) mere D) complete
10. A) willingness B) offers C) ways D) pieces
11. A) attractively B) naively C) interestingly D) colorfully
12. A) distant B) distinguished C) deviant D) different
13. A) convert B) transform C) alter D) vary

14. A) has been B) have been C) were D) was

15. A) identical B) similar C) same D) distinct

a number of



II. Grammar and Vocabulary (25 points / 1 point each)

Directions: There are 25 incomplete sentences in this part. For each sentence there are four choices
marked A) , B), C), and D). Choose the ONE answer that best completes the sentence
and write the corresponding letter on the Answer Sheet.

1. She said she wouldn’t call us the next day, she?

A) would B) wouldn’t C) did D) didn’t
2. A thorough check of the accounts has revealed a tax evader.

A) him being B) him to be

C) that he be D) that he had been
3. allowing for his age, he still acts very immaturely.

A) But B) Yet C) Although D) Even
4. They so tired if they for a whole day.

A) wouldn’t feel... didn’t walk

B) wouldn’t feel... weren’t walking

C) wouldn’t be feeling... weren’t walking

D) wouldn’t be feeling... hadn’t been walking

5. The examination has been cancelled. You all that revision, after all.
A) didn’t need to have done B) needn’t have done
C) need to do D) needn’t do
6. The research requires more money than
A) have been put in B) has been put in
C) being put in D) to be put in
7. Overpopulation poses a terrible threat to the human race. Yet it is probably a threat to
the human race than environmental destruction.
A) no more B) not more C) even more D) much more
8. It is not uncommon for there problems of communication between the old and the young.
A) being B) would be C) be D) to be
9. It is absolutely essential that William his study in spite of some learning difficulties.
A) will continue B) continued
C) continue D) continues
10. ghost exists in the world. That’s your illusion.
A) No such a thing as B) No such a thing as a
C) No such thing as a D) No such thing as
11. My daughter has walked eight miles today. We never guessed that she could walk far.
A) / B) such C) that D) as
12. The statistics that living standards in the area have improved drastically in recent times.
A) proves B) is proving C) are proving D) prove
13. There are only ten apples left in the baskets, the spoilt ones.
A) not counting B) not to count
C) don’t count D) having not counted



14. It was we had hoped.

A) more a success than B) a success more than

C) as much of a success as D) a success as much as
15. There used to be a petrol station near the park, ?

A) didn’t it B) doesn’t there

C) usedn’t it D) didn’t there
16. The economists are not quite optimistic about the economic for the whole world.

A) outlook B) lookout C) foresight D) project
17. Jenny is not in the ___ for going to the party tonight.

A) temper B) condition C) mood D) health
18. There is no in applying for that job, as you are not properly qualified.

A) reason B) point C) result D) chance
19. The road is completely deep at night.

A) isolated B) lonely C) deserted D) neglected
20. This is the _ piano on which the composer created some of his greatest works.

A) true B) original C) real D) genius
21. The economic recession has meant that job is a rare thing.

A) security B) safety C) protection D) secureness
22. Many people nowadays save money to for their old age.

A) cater B) supply C) provide D) equip
23. The tone of the article _ the writer’s mood at the time.

A) reproduced B) reflected C) imagined D) imitated
24. The majority of nurses are women, but in the higher ranks of the medical profession women are

in a

A) minority B) scarcity C) rarity D) minimum
25. Professor Johnson’s retirement from next January.

A) carries into effect B) takes effect

C) has effect D) puts into effect

III. Reading Comprehension (35 points)

Section A (20 points / 1 point each)

Directions ; For passages 1 to 4, each passage is followed by some questions or unfinished statements.
For each of them there are four choices marked A) , B) , C) and D). Decide on the best
choice and write the corresponding letter on the Answer Sheet.

Passage 1

Questions 1 to 5 are based on the following passage.

Scientists claim that air pollution causes a decline in the world’s average air temperature. In or-
der to prove that theory, ecologists have turned to historical data in relation to especially huge vol-
canic eruptions. They suspect that volcanoes effect weather changes that are similar to air pollution.

One source of information is the effect of the eruption of Tambora, a volcano in Sumbawa, the
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Dutch East Indies (the former name of the Republic of Indonesia) , in April 1815. The largest re-
corded volcanic eruption of Tambora threw 150 million tons of fine ash into the stratosphere. The ash
from the volcano spreads worldwide in a few days and remains in the air for years. Its effect is to
turn incoming solar radiation into space and thus cool the earth. For example, records of weather in
England show that between April and November 1815, the average temperature had fallen 4.5 °F.
During the next twenty-four months, England suffered one of the coldest periods of its history.
Farmers’ records from April 1815 to December 1818 indicate frost throughout the spring and summer
and sharp decreases in crop and livestock markets. Since there was a time lag of several years be-
tween cause and effect, by the time the world agricultural commodity community had deteriorated
no one realized the cause.

Ecologists today warn that we face a twofold menace. The ever-present possibility of volcanic
eruptions, such as that of Mt. St. Helens in Washington, added to man’s pollution of the atmos-
phere with oil, gas, coal, and other polluting substances, may bring us increasingly colder weather.
1. According to the passage, the effects of Tambora’s eruption were

A) of several day’s duration worldwide
B) felt mainly in the Dutch East Indies
C) evident in the decreased world temperature
D) immediately evident to the world’s scientists
2. Which of the following was the cause of cold weather in England from 1815 to 18187
A) England’s proximity to the North Sea.
B) Volcanic ash in the atmosphere.
C) Floods in the area.
D) Pollution caused by the Industrial Revolution.

3. No one realized the cause of the deterioration of the world agricultural commodity market because

A) there was a long interval between cause and effect
B) the weather was difficult for us to forecast
C) weather forecasts were inaccurate
D) ecologists didn’t exist until modern times
4. According to the passage, which of the following is NOT the cause of dropping temperature?
A) Volcanic eruptions. B) Mountain torrents.
C) Crop and livestock production. D) The floods after the storm.
5. The “twofold menace” in the last paragraph refers to
A) volcanic eruptions and the oil shortage
B) the pollution of the atmosphere and the gas shortage
C) the pollution of the atmosphere and the increasingly colder weather
D) volcanic eruptions and the colder weather
Passage 2
Questions 6 to 10 are based on the following passage.
Diego Chiapello, legally blind since birth, isn’t one of Italy’s famous
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with their parents into adulthood. The 27-year-old lives alone in Milan, works as a network adminis-
trator, loves diving and dreams of sailing across the Atlantic with sight-impaired crew.

Obviously, he’s not your average disabled person—but especially so in Italy. The country has
more barriers to integration than almost anywhere else on the Continent; among European countries,
Italy ranks third from the bottom in accessibility for the disabled, ahead of only Greece and Portu-
gal. People who use wheelchairs, especially, find it difficult to navigate the country’s cobblestone
streets, ride buses or visit restaurants, shops and museums. Less than a quarter of Italy’s disabled
hold jobs compared with 47 percent for Europe.

But the biggest obstacle for the country’s physically challenged may, in fact, be the fabled Ital-
ian family. Because of the social defect that still attaches to disabilities, “they tend to keep disabled
people at home” and out of public view, explains Giovanni Marri, head of an employment training
center in Milan that caters to the handicapped. Thus while 15 percent of the country’s families in-
clude a disabled person, according to surveys, only 2 percent of Italians report going to school with
a disabled person and only 4 percent work with one.

Italians are beginning to recognize the problem. Over the past decade, the government has pas-
sed laws targeting everything from workplace discrimination to accessibility requirements. A recent
study by the European Union found that 85 percent of Italians admit that public transportation and
infrastructure are inadequate for the handicapped, and 97 percent say action is needed. But the big-
gest barrier is psychological. “Italian companies are afraid of hiring disabled people,” says Chiapel-
lo. The only way to alter that, he says, is for Italy’s disabled to do what he did—get out of the house
and demand change.

6. Which of the following words best describes “mama’s boys” in the first paragraph?

A) Ordinary. B) Optimistic.

C) Dependent. D) Desirable.
7. In this passage, Chiapello is cited as an example of

A) unusual disabled Italians B) courageous blind sailors

C) typical handicapped people D) vulnerable disabled Europeans
8. In Italy, where are the disabled people most likely to be?

A) In nursing homes. B) At home.

C) In school. D) At work.

9. Italy’s general public will most probably agree that
A) physical inadequacies are the biggest obstacle for the disabled
B) things should be done to remove the barriers against the disabled
C) workplace prejudices toward the disabled are hardly recognizable
D) disabled people should reduce the need of going to public places
10. What is the passage mainly about?
A) Ttaly has not done enough in aiding the disabled.
B) Italy’s disabled people should get out of their houses.
C) Italian people have been blind to troubles of the disabled.
D) Italian ways of aiding the disabled should be encouraged.



Passage 3
Questions 11 to 15 are based on the following passage.

The three biggest lies in America are: (1) “The check is in the mail. ” (2) “Of course I'll ex-
pect you in the morning. ” (3) “It was a computer error. ”

Of these three little white lies, the worst of the lot by far is the third. It’s the only one that can
never be true. Today, if a bank statement cheats you out of $900 that way, you know what the clerk
is sure to say: “It was a computer error. " Nonsense. The computer is reporting nothing more than
what the clerk typed into it.

The most irritating case of all is when the computerized cash register in the grocery store shows
that an item costs more than it actually does. If the innocent buyer points out the mistake, the
checker, bagger and manager all come together and offer the familiar explanation: “It was a comput-
er error.

It wasn’t, of course. That high-tech cash register is really nothing more than an electric eye.
The eye reads the Universal Product Code—that ribbon of black and white lines on the package—
and then checks the code against a price list stored in memory. If the price list is right, you’ll be
charged accurately.

Grocery stores update the price list each day—that is, somebody sits at a keyboard and types in
the prices. If the price they type in is too high, there are only two explanations: carelessness or dis-
honesty. But somehow “a computer error” is supposed to excuse everything.

One reason we let people hide behind a computer is the common misperception that huge, mod-
ern computers are “electric brains” with “artificial intelligence. ” At some point there might be a
machine with intelligence, but none exists today. The smartest computer on Earth right now is no
more “intelligent” than your average screwdriver. At this point in the development of computers, the
only thing any machine can do is what a human has instructed it to do.

11. We are told that a high-tech cash register is really just

A) an electric instrument of sight

B) a simple adding machine

C) a way to keep employees honest

D) an expensive piece of window dressing
12. Grocery store price lists are updated by

A) a scanner B) a telephone hookup

C) an adding machine D) an employee
13. According to the passage, which of the following statements is TRUE?

A) That high-tech cash register is anything but an electric eye.

B) The grocery stores update the price list every other day.

C) There is no machine with intelligence today.

D) In the grocery, the checker is the manager himself.

14. Which of the following describes the main idea of the passage?

A) Computers are stupid and inefficient.

B) Computer errors are basically human errors.
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